il
W
St
%
I

1. TE4
TE4 AN 6 FERR AT SR AEIR X SR 2 S B TR
T4 fif]) | Lt B AL T B P~ ph i e 48N
2. THEHNE
1) HEI4 [ L EE FET LR
2) £ I & | T
3) T i 281 H ] H ST 64E10H 24 H
= SFn T THSLH
4) TEyE

[E-Amd T ET R




AN

%
T

TH4 | B 6 AR AR P H X 2 S T3

TSy « TfE - FER B {7 ¥ & & A bl A iR
FLLt - =X 1 148, 115, 430
FNET = 1 56, 151, 326
PEHI L (ICT) = 1 1, 646, 800 |#EHI (ICT) 4, 000 m3
Ty -7 iy BEEMEL 5, 000m3AK ;
B+ T.(ICT) m3 23, 200 15,457, 380 | B&{A (FL82) % 1= (ICT) 1 =
T wb AT 1 X
0 Cabl- EHIRY £5Te) ;
FEHA O-27) 1 =X
+Hw 550, 000m3 AT ;
IRA AL T = 1 30, 445,216 | {RAWLHR 12, 900 m3
2URAE
£l 1 =X
THp A7 iy L EEME 5, 000m3L8L 10,
000m3 AT ;
T wb AT 1 X
0 CaBl- EHIRY £5Te) ;
T wb AT 1 X
0 Cadl- EHIRY £5Te) ;
FEHA O-27) 1 X
+Hw 550, 000m3 AT ;
BT T (ICT) = 1 675,840 |{EMEFETE (B 1356) (ICT) 1, 280 m2
LB O L
P v T = 1 7,926, 090
LR L 2 1 70, 873, 551
e+ T 2 1 4,476, 829
ayy)=b7" my) (R E77 1y 3E) = 1 60, 567, 602 | BT Heqsav -} 403 m
(1557 my ) Htf)
18-8-40 (75 47) JEIE 35¢cm S 35¢m ;
WG/ a3y -} 1 [E130

-1- [E-Amd T ET R




il
W
>
%
I

TH4 | B 6 AR AR P H X 2 S T3

LKy - LA - FER WAL ¥ =& & il il 2

ﬂlj“

(15/ha k)
18-8-40 (Fi47) ;

fE7" ny 5k 2,443 m2
(1557 myig)
150kg/{EAT 122 350mm VEHH7 FEAREA R
C-40 18-8-40 (F&JF) MARY-ME A — FA(
JE1.0+41 ;

H Hi 81 m2
(1557 myig)
TR AHERT B M t=10 ;

Bl HT Rbiav - 10 m3
(15 Rgavy)-h)
18-8-40 (Fi47) ;

H HihR 1 m2
(K#gavr)-h)
T AHE R B M =10 ;

M EY T = 1 5,829, 120 |18 FEiEa/))-} 198 m
18-8-40 (FJF) ;

R [ 6D T =Y 1 14, 790, 680

FRE D7 ny) T 2 1 14,790, 680 | YHIAR[E 7 ny )/ fLE 340 1l
(15HR[E 87 1y7)
=M 7oy (RER) 2t

HRE D7 vy s HEft 340 &
(15HR[E 87 1y7)
MERG7 gy 7 ey FEEH (RE®) 2t 7 my /A
40 .

VH AR [E 87y J i i 340 1A
(15HR[E 87 1y7)
2.5tPAF FEAA-HRATT (JBFE) 518 0. 5kmLL T

A Y 1 6, 299, 873

-2 - [E-Amd T ET R




TH4 | B 6 AR AR P H X 2 S T3

THEXSy - THE - FE5 H7 % & i Gl N

TEHRERK LT =X 689, 873
15¥ER 1L T =X 4, 159, 200
AZIEE P =X 1, 450, 800
[P % X 148, 115, 430
Hm R 2V 13, 030, 966
e Tre: 2V 2, 588, 966

R 2V 7,008 | RERALEME 1 2y

Bl s 2V 1,234,868 |fR5FE B (ICT) 1 E2y

VATARI I # (1CT) 1 X
BUGBREIUEL (REH L) 2V 1, 347, 000
sty (R L) 2V 10, 442, 000
ol T X 161, 146, 396
TR e gL 2V 39, 158, 000
T AT X 200, 304, 396
— i PR 2V 31, 325, 604
N 2V 231, 630, 000

-3- Ehazimd E s R




